Transfers Report

This report contains the transfers results.

Contest Name	Ward 7 - Turriff and District
	1
Valid Votes	4,515
Positions to be Filled	4
Quota	904

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Susan DUBOIS	Scottish National Party (SNP)	740
Alastair FORSYTH	Scottish National Party (SNP)	792
Gordon LANG	Scottish Conservative and Unionist	690
Anne STIRLING	Scottish Liberal Democrats	1,059
lain Walker TAYLOR	Scottish Conservative and Unionist	1,075
Kathryn Louise VINCENT	Scottish Green Party	159
	Total	4,515

Candidate Anne STIRLING Elected with 1,059 votes, being in excess of the quota of 904 Candidate Iain Walker TAYLOR Elected with 1,075 votes, being in excess of the quota of 904

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Iain Walker TAYLOR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan DUBOIS	7	0.15906	1.11342
Transfer to Alastair FORSYTH	39	0.15906	6.20334
Transfer to Gordon LANG	935	0.15906	148.72110
Transfer to Kathryn Louise VINCENT	11	0.15906	1.74966
No further preference	83	0.15906	13.20198
Not transferred due to rounding			0.01050
	Total		171.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Anne STIRLING

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan DUBOIS	65	0.14636	9.51340
Transfer to Alastair FORSYTH	182	0.14636	26.63752
Transfer to Gordon LANG	289	0.14636	42.29804
Transfer to Kathryn Louise VINCENT	174	0.14636	25.46664
No further preference	349	0.14636	51.07964
Not transferred due to rounding			0.00476
	Total		155.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Kathryn Louise VINCENT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan DUBOIS	67	1.00000	67.00000
Transfer to Alastair FORSYTH	39	1.00000	39.00000
Transfer to Gordon LANG	8	1.00000	8.00000
Transfer to Gordon LANG	10	0.15906	1.59060
Transfer to Susan DUBOIS	35	0.14636	5.12260
Transfer to Alastair FORSYTH	32	0.14636	4.68352
Transfer to Gordon LANG	29	0.14636	4.24444
No further preference	45	1.00000	45.00000
No further preference	1	0.15906	0.15906
No further preference	78	0.14636	11.41608
Not transferred due to rounding			0.00000
	Total		186.21630

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Susan DUBOIS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alastair FORSYTH	745	1.00000	745.00000
Transfer to Gordon LANG	9	1.00000	9.00000
Transfer to Alastair FORSYTH	2	0.15906	0.31812
Transfer to Gordon LANG	1	0.15906	0.15906
Transfer to Alastair FORSYTH	72	0.14636	10.53792
No further preference	53	1.00000	53.00000
No further preference	4	0.15906	0.63624
No further preference	28	0.14636	4.09808
Not transferred due to rounding			0.00000
	Total		822.74942